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Note : Answer questions from all the Sections as 

per the instructions 

Section–A 

Note : Answer any two questions from this 

Section in about 500 words each. 

     2×20=40 

1. Examine the various neo-classical growth 

theories. Describe the emergence of 

endogenous growth theory in this context. 
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2. What do you understand by Government 

failure ? How is it different from Market 

failure ? Explain different measures to 

overcome government failure. 

3. Explain the concept of income poverty. 

Describe two main policies to mitigate it. 

4. Describe the structure of Solow model of 

growth. 

Section–B 

Note : Answer any four questions from this 

Section in about 250 words each. 

     4×12=48 

5. Critically examine the Harrod-Domar 

growth model. 

6. What do you understand by a ‘natural 

monopoly’ ? Which public utilities are of the 

nature of natural monopoly ? 
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7. What are the axioms that should be 

possessed by a measure of inequality ? 

Explain. 

8. Discuss the Romer’s model of technological 

change. 

9. What do you mean by Total Factor 

Productivity (TFP) ? Explain the approach of 

growth accounting used in measurement of 

TFP. 

10. What do you understand by ‘Tragedy of 

Commons’ ? Describe the alternative 

suggested by Hobbes to solve the commons’ 

dilemma. 

Section–C 

Note : Answer both questions from this 

Section. 2×6=12 

11. Write short notes on the following : 

 (a) Sustainable Development Goals (SDGs) 

 (b) Lorenz curve 
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12. Differentiate between the following : 

 (a) Unconditional and Conditional 

Convergence 

 (b) Economic growth and Economic 

development 
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 BECC–112 

dyk Lukrd (vkWulZ) vFkZ'kkL=  

(ch-,-bZ-lh-,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&112 % fodkl vFkZ'kkL=µI 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd [k.M ls fn;s x;s funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

[k.Mµd 

uksV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- uo&ijEijkoknh vkfFkZd lao`f¼ ds fl¼kUrksa dk ijh{k.k 

dhft,A bl lanHkZ esa vUrtZfur (endogeneous) lao`f¼ 

fl¼kUr ds mn~xe dk o.kZu dhft,A 



 [ 6 ]  BECC–112 

B–1538/BECC-112 

2- ljdkjh foQyrk ls vki D;k le>rs gSa \ ;g cktkj dh 

foQyrk ls fdl izdkj fHkUu gS \ ljdkjh foQyrk  

ij dkcw ikus ds fofHkUu mik;ksa dh O;k[;k  

dhft,A 

3- vk; fu/kZurk vo/kkj.kk dh O;k[;k dhft,A vk;  

fu/kZurk dks de djus dh nks izeq[k uhfr;ksa dh ppkZ 

dhft,A 

4- lao`f¼ ds lksyks ekWMy dh lajpuk dk o.kZu dhft,A 

[k.Mµ[k 

uksV % bl [k.M ls fdUgha pkj iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) esa nhft,A 4×12=48 

5- gSjksM&Mksej lao`f¼ ekWMy dk vkykspukRed ijh{k.k 

dhft,A 
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6- izkÏfrd ,dkf/kdkj ls vki D;k le>rs gSa \ dkSu&lh 

lkoZtfud lsok,¡a izkÏfrd ,dkf/kdkj dh izÏfr okyh   

gSa \ 

7- vlekurk ds ekid ls tqM+s Lor%fl¼ izek.k dkSu&dkSu ls 

gSa \ O;k[;k dhft,A 

8- rduhdh ifjorZu ds jkselZ ds ekWMy dh ppkZ  

dhft,A 

9- dqy dkjd mRikndrk ls vki D;k le>rs gSa \ dqy 

dkjd mRikndrk ds ekiu esa iz;qDr lao`f¼ n`f"Vdks.k dh 

O;k[;k dhft,A 

10- ^dkWeUl dh =klnh* ls vki D;k le>rs gSa \ dkWeUl dh 

f}fo/kk ds lek/kku gsrq gkWCl }kjk lq>k;s x;s fodYi dk 

o.kZu dhft,A 
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[k.Mµx 

uksV % bl [k.M ls  nksuksa iz'uksa ds mÙkj nhft,A 2×6=12 

11- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

 (v) lrr~ fodkl ds y{; (SDGs) 

 (c) ykWjsUt oØ 

12- fuEufyf[kr esa vUrj crkb, % 

 (v) v'krZ ,oa l'krZ vfHklj.k (Convergence) 

 (c) vkfFkZd lao`f¼ ,oa vkfFkZd fodkl 

× × × × × 

 

 

 

 

 


